[image: image28.png]‘Budgeted units. Year April

Units sold 238000 20,000
Units produced 245000 21,000
Y

Sales revenue 1504500 134000)
Cost of production:

Material used 543660 46410)
Direct labour 623400 53700)
Variable production overhead  95,940) 8190)
Fixed production overhead 96,000 8000|

Total production cost 1350000 116300)





CBT Sample assessment model answers

Management Accounting: Budgeting (MABU)

Sample assessment 1

Task 1 (20 marks)
[image: image2.png]You are gathering budget information for the company for which you work.

(a) Match each item of budget data below with its appropriate source.
To show each answer, click on a box in the left column then click on a box in the right column.
To remove aline, click on it.

Appropriate source

Budget data
loet dat Customer Relationship Management

(CRM) system

Current pay rates of your
company’s staff

Government statistics (¢.g. ONS in
the UK)

Competitors' prices Intemet search

Awebsite for a leading business
news and information organisation
(e.g. The Financial Times' website)

Retail price index for the
‘country in which we operate

Payroll records





Task 1 (continued)
[image: image3.png](b) Match each task with the individual or group that you will need to contact for information.
To show each answer, click on a box in the left column then click on a box in the right column.
To remove aline, click on it.

Task Contact

Agree planning assumptions Purchasing manager

for budget preparation
Production manager and
Explain a labour efficiency human resources manager
variance

Budget committee

Draft the direct labour cost
budget

Production manager

Propose budget pay rates }—— Human resources manager





Task 1 (continued)
[image: image4.png](c) Select the appropriate accounting treatment for each of the following items.

Preparing plans forfactory extension [Capials and depreciate over usetl e

Repairsto sales offce fumiture  [Nlocate o markeing overmeads
Raw materi usage [orecicost
Producton lavour-overime pay  [Directcost
Produdt acvetising [Fiocat o markeing oveneads

Replacement of production machinery [Capiatis and depreciate over usetl e





Task 1 (continued)

[image: image5.png](d) Select the appropriate term to match the following description.

Collecting data about a proportion of the items in the population to indicate the characteristics of the whole
population




[image: image6.png](€) The budget committee has set the sales volume growth and pricing assumptions for years 2,3, 4 and
5in the form of indices. Complete the sales revenue forecast below.
Do not show decimals. Round each figure to the nearest whole number.

Year1 | Year2 | Year3 | Yeard | Years
‘Sales volume index 140.0) 148.0) 152.6] 156.0) 160.0|
Sales price index 1120) 115.0) 1200) 125.0) 130.]

Actual

AtYear 1 prices 384000 | 405943|  418560|  427835| 433857

Atexpected prices 416816|  448457|  477551| 500388





Task 2 (20 marks)
[image: image7.png](a) Complete the following production forecast for product G.
Round any decimal figures up to the next whole number of units, f necessary.

+ Closinginventory should be 30% of the following weeks sales volume.
+ 8% of all production fails quality control checks and is rejected.

Opening inventory 0000 20700 20100 21000
Good production ee700|  sas0|  e7ov0| 70800
Sales volume 000 o000 67000 70000 72000
Glosing inventory 20700 20100] 21000 21600
Rejectea proauction sora]  soss|  se0s| w0
Total manutacturedunits | 74674|  7a3a| 7305|7740





[image: image8.png](b) Calculate material purchases.

Round up to the next whole number of kilograms, i

61,000 items of product W will be manufactured next week
Each item requires 11 kilograms of raw material

5% of raw materialis wasted during manufacture.

‘The opening inventory will be 84,000 Kilograms.

‘The closing inventory will be 80,000 kilograms.

How many kilograms are required for input to production?

706316]

kg

How many kilograms must be purchased?

702316]

kg




Task 2 (continued)

[image: image9.png]() Calculate overtime hours.

Round up to the next whole number of hours, if

+ 88,000 items of product 2Z will be manufactured in July
« 25items are made in one labour hour.
15 staffwill each work 180 basic hours.

How many overtime hours should be budgeted?

820]

hours




[image: image10.png](@

Calculate machine utiisation.
Do not show decimals. Round to the nearest whole percentage, i

‘There are 90 machines in the department.
Each can be used for 240 hours in the period.
9,750 tems are to be made.

Each item requires 2 hours of machine time

Whatis the machine uiisation?

o0 %





Task 2 (continued)

[image: image11.png](€) Calculate the capacity constraints for product JJ by completing the table below.
Round down to the maximum whole number of units, if necessary.

Accordingto the standard cost card, each nitof this product requires
* 8 kilograms of material

+ 45 minutes of direct labour time

+ 12 minutes of machine time

'Budgets have been drafted by departmental heads which show:
+ Madmum sales demand of 720 units
* 6,000 kilograms of material available
+ 450 hours of direct abour time available without using overtime
+ 140 hours of machine ime available

‘Sufficient materials are budgeted to manufacture: 750
Without overtime, sufficient direct labour is budgeted to manufacture: 600
‘Sufficient machine time is budgeted to manufacture: 700
Without overtime, the maximum sales volume i 600
With unlimited overtime, the maximum sales volume is: 700





Task 3 (20 marks)
[image: image12.png]Opening invertory 3.00) 12,320)
Purchases @ £145 per kg 242200 351190
Subdotal 251000 363510
Used in production 243600 352780
Glosing inventory 7.400) 10730)
Basic ime @ £15.00 per hour 25240 393600
Overtime 2760 57960)
Total 29000 451560
Variable @ £2.60 per hour 20000 75400)
Fixed 94,560)
Total 170060






Task 3 (continued)

[image: image13.png]£ perunit

Sales revenue 340000 308] 1343000
Cost of goods sold B
‘Opening inventory of

finished goods 70740
Costof production B

Waterials 352780

Labour 451560

Production overhead 170060 974400)
Closing inventory of

finished goods 95760)
Cost o goods sold 949380)
Gross profit (l0ss) 393620
Overheads B

‘Adminisiration 112000)

Marketing 168,000) 280000
Operating proft/ (loss) 113620)






Task 3 (continued)

[image: image14.png]Opening cash balance / (overdraf) (8,000
‘Sales receipts. 1355000
Payments £

Material 347190

Labour 451560

Production overheads 145060

Other overheads. 280000

Capital expendiure 75000) 1298810
Closing cash balance / (overdraft) 48190)





Task 4 (20 marks)
[image: image15.png](a) Budget submission

[attach the araft fuel ol cost budget for your consideration and approval. This is calculated from the agreed
sales ana production volume budget, which shows a 2.6% increase over this year. Fuel oil s usedto power
the production process andfor heating.

The chief engineer has estimated the savings arising from the installation of fuel eficient production
equipment (20% of the usage per 1,000 items) and improved insulation (10% of the heating requirement).
e have assumedthatthe production elementis avariable cost (vaying in direct proporton to production
volume) and that the heating elementis a fixed cost (notvarying with production volume, although it will
fluctuate depending on weather conditions).

You will be aware of the recentvolatiity of eneray prices. The chief buyer has recommended that we budget at
720 per itre which is 20% more than the average price this year.

[Despite higher sales, we are budgsting for a very slight saving in fuel oil cost nextyear.

(b) Control

[M1anagement cannot control al of the variables in this budget.

- The sales and production budgets have already been approved but, of course, sales will be influenced by
[competitor activity and demand n the market

- The price peritre ofthe fuel oil will depend on world energy prices and could vary considerably from the
chief buyer's estimate, unless he is prepared to enter into a fixed tarif agreement.

- The usage offuel oilfor heating will e influenced by the weather.

- There is the inevitable possibilty of error when estimating efficiency savings, butitis reasonable to hold
management accountable for achieving the anticipated usage reductions for production and heating.





Task 4 (continued)

[image: image16.png](c) Performance measures.

[There are four variabe factors in this budget and they needto be monitored closely. | recommend that we.
requiariy report and review the following measures:

- the purchase price of fuel oil in pence per itre

- weekly production and sales volumes, in units

- the consumption of fuel il for production, in litres per 1,000 unts of production

- the consumption of fuel ol for heating, n litres per week or month

[Whereas the first three of these can be compared against budget assumptions, the heating usage wil be
[seasonal and should be compared against this year's usage to ensure thatthe expected savings are.
achieved.

‘Budget Accountant




Task 5 (20 marks)
[image: image17.png](a) Select the appropriate term to match each of these descriptions.

Detailed budgets prepared by functional

managers are collated to form a master budget | [200M-UP budgeting

A costthat fluctuates in direct proportion to v ]
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[image: image24.png]Sales price per unit (£) 12.00) 12|
Sales volume 80,000 73600)
£ £

Sales revenue 960,000 927360)
Costs:

Material 392,000 360640)
Labour 224,000 206080)
Energy 43,000 44000)
Depreciation 42,000) 39000)
Total 701,000 649720)
Gross profit 259,000 277640)
Increase / (decrease) “e000)
in gross profit




[image: image25.png]You have submitied a draft operating budgetto the budget committee.
The committee has asked you to budgetfor an alternative scenario and
calculate the increase or decrease in expected proft

() Complete the alternative scenario column in the operating budget table
and calculate the increase o decrease in profit.
For the sales price per unit figure, enter any decimal places, if relevant.
For the other figures, round to the nearest whole number, if necessary.

Assumptions in the first scenario:

+ Material and Iabour costs are variable.
+ Depreciation s a stepped cost, increasing at every 6,000 units
+ There is an allowance for an energy price fise of 7.5%.

Aternative scenario:

+  Increase the selling price by 5%.
+ Reduce the sales volume by 8%.
+ Revise the energy price rise to 10%.





Task 5 (continued)

[image: image26.png]Each unitis made from 0.85 kilograms (kg) of material costing £2.60 per kg.
Each unitrequires 10 minutes of directlabour time.

3,300 hours of basic time is available in April. Any exira hours must be worked
as overtime.

The directIabour rate is £15 per hour and the overtime premium s 40%.
Variable production overhead relates to labour hours, including overtime.

Fixed production overheads are incurred at a steady monthy rate across the year.




[image: image27.png](b) Calculate the budget for April.
Complete the table using the information below.




Task 6 (20 marks)
[image: image18.png](a) Select the appropriate term to match the following description.

Afinancial measure of the difference between budget and actual performance:




[image: image19.png]“The operating statement for October showed that direct raw material costs were £142,560.
9,900 kg of material were used and 6,000 items were made and sold.
‘The standard cost allows 1.6 kilograms (kg) of material or each tem at a standard price of £14.50 per kg

(b) Complete the table of direct raw material costs, indicating whether each variance is favourable or
adverse.

[Flexed budget (standard cost) | & 139200

[Actual material price perkg |z 144
(correctto £0.01)
[Actual material used per ftem 165 ko

|(correctto two decimal places)

Price variance e 990 |[Favuae kg

lUsage variance e am v
[Costvariance S v
(Gostvariance percentage 2o

|ccorrectto one decimal place)





Task 6 (continued)

[image: image20.png](c) Prepare the direct labour cost statement from the activity data provided.
Round to the nearest whole number if necessary.

i, fems | Labour | Cost
Actiity data produced hours. £

Buaget 18300 3e00  eseen)

Actualresults 18800 a700 earz0)

‘Standard labour cost of production 67680)

Variances £Fav/ (Adv)
Labourrate 1880
Labour eficiency (16920)|
Labour cost (15040)|





Task 7 (20 marks)
[image: image21.png]Monthly Operating Report

1,306.700)

357.700)

306,600

21,900

18.250)

29,680)

37,500

11,900)

45,400

73,000

63,000

965,930

340.770)

‘Sales volume (unis)

Sales revenue

Costs:
Materials

Labour
Quality control

Distribution

Energy

Equipment hire
Depreciation

Other production overheads
Marketing

Administration

Total

Operating profit/ (loss)

76,000
£ £
1360400 1,285,500) 74800
372400 373,800 1400
319200 317.900) 1300
22800 23,600 -800
19000 18,800) 200)
30160 33,200 3040
50000 43,850 5150)
11900 12,400) -500
47600 48,300 1300
73000 75,600 2600
63000 54,200 1200
1009060 1,009,650) 520
351340 275,950 75390





Task 8 (20 marks)
[image: image22.png](a) Reasons for variances.

[The operating statement shows  profit of £111,000 which is 39% below the original budge, despite befter
than anticipated sales volume and average selling price. Profitis 40% below the flexed budget There are.
three significant variances.

Sales revenue shows a favourable variance of £31,000 (2.9%) which must be due to price, as the budget has
been flexed. The average selling price has increased to £1.75 per pair as a fesult of a shiftin demand
towards our premium products.

aterial costs were £51,000 (17%) above the flexed budget This can be afributedto increased demand for
oloves made from best quality leather. There may also be other price or efficiency factors but our accounting
system does not provide an analysis. Similarl, we cannot tell what cost reduction has resulted from the shift
towards smaller glove size, using less leather.

[Labour costs were £45,000 (12%) above budget. Again, the shiftin demand is the most ikely cause as we.
are selling more gloves of the intricate design which, presumably, requires more handwork. This might have
involved overtime working. Again, there could be other general wage rate or eficiency factors but we o not
[have the data to anaiyse.

(b) Information for pricing

[The sales manager needs to know what it costs to make each of the products in the range. The average
variable costin the budget was £1.28 per pair butthe actual costwas £1.44.Ifas seems likely, this increase
is cue to a change in the product mix, the variation in cost between the products must be considerable.

[The fact that profit has dipped indicates that pricing has not been optimal. If premium progucts are.
underpriced demand will switch to them and production costs will ise disproportionatel.

[Costs are likely o vary according to the quality of eather used, the glove stle and glove size. As fired costs
are a small proportion ofthe total we can focus on variable cost and contribution

The shiftin demand towards premium products should be good news forthe business and enhance
proftabilty. The contribution on each pair of the premium gloves should be at least as good, preferably better,
than average.

[The accounting system needs to identiy the variable cost of each productinthe range so thatthe sales
Imanager can set prices that are both competitive and profitable across the range.





Task 8 (continued)

[image: image23.png](c) Budgetary control process

[Flexiole budgeting is a powertul control tool n a single product environment but is of imited value f there is a,
aiverse product range. Indeed it can produce misleading information.

[Budgetary control could be improved by using standard costing. This would provide detailed cost data and
analysis at product level. Standard costing can be fully integrated with budgeting to provide excellent control in
a mutt-product environment

Standard costs should be calculated for each ofthe 18 products in the range (2 styles x 3 leather grades x3
sizes). A costing system must be putin place to collect the actual costs of each product.

This will improve control by facilitating the reporting of variances. For instance, material costvariances could
e analysedinto price variances for each leather grade and usage variances for each glove style and size.
[Similar analyses could be made for otner variable costs.

[standard costing will also provide the data o build realistic budgets andto inform sales pricing as described
[above in section 2 of this emai.

‘Budget Accountant
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